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B.Com. (Acc. & Fin.) DEGREE EXAMINATION, APRIL 2017.
I YEAR — II SEMESTER
Major Paper III — ADVANCED FINANCIAL ACCOUNTING
Time : 3 hours	    			Max. Marks: 75

SECTION A — (10 ×2 = 20 marks)
Answer any TEN questions.
1. What is revaluation account?
2. A, B and C were partners sharing profits in the ratio of 5:4:1. A retires from the firm. Calculate the new profit sharing ratio.
3. Who is an insolvent partner?
4. What is “Repossessed Stock”?
5. What is the purpose of having departmental accounting?
6. What is meant by sacrificing ratio?
7. What do you mean by dissolution of partnership firm?
8. A, B, and C were sharing profits in the ratio of 4:3:2. D was admitted on 1st January with 1/3rd interest in the business. Calculate new ratio?
9. Write notes on goodwill.
10. X purchased machinery under hire purchase agreement from Y. The cash price of the machinery was `15,500. The payment was to be made as follows:
On signing the agreement 	`3,000
First year end			`5,000
Second year end 		`5,000
Third year end 			`5,000
Calculate interest for each year.
11. P, Q and R are equal partners in a firm. R retires from the firm. On R’s retirement, goodwill has been valued at `62,000. There was a goodwill A/c in the books of the firm with a balance of `80,000. Make journal entry to record the goodwill.
12. Calculate cash price of a machine from the following information:
   			  `
Down payment					 			10,000	
4 annual instalments at the end of each year			10,000
Rate of interest 5% p.a.

SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions
13. What do you understand by “Garner vs. Murray “rule?
14.  Differentiate between Hire purchase and installment system?

 (
[P.T.O.]
)
15. How will you apportion the following expenses among the various departments:
(a) Welfare expenses for employees (b) Purchasing expenses (C) Depreciation of assets (d) Power charges (e) Repairs and depreciation on buildings (f) General Manager’s Salary.
16. A, B and C are partners sharing profits in the ratio of 5:5:4. D is admitted as a partner.                 D introduced `40,000 as capital for his 1/4th share. Goodwill of the firm is to be valued at 2 years purchase of 3 years profits which have been `15,000, `26000 and `22,000. Give journal entries if
a. There is no goodwill in the books of the firm
b. The goodwill account appears at `14,000 and 
c. The goodwill already standing in the books is `56,000
17. P, Q and R share profits in proportion of ½, 1/4, and 1/4 . on the date of dissolution their balance sheet was as follows:
	Liabilities			     `			Assets				   `
	Creditors		        		 14,000		Sundry assets		        40,000
	P’s capital		      		 10,000		
	Q’s capital		          10,000
	R’s capital		            6,000
	Total			          40,000					                  40,000
The assets realized `35,500. creditors were paid in full. Realisation expenses amounted to `1,500. Close the books of the firm.
18. The Madras Trading Co purchased a motor car from Bombay Motor Co, on hire purchase agreement on 1.1.80; paying cash `10,000 and agreeing to pay further three installments of `10,000 each on 31st December each year. The cash price of the car is `37,250 and the Bombay Motor co. charges interest at 5% p.a. The Madras Trading Co., writes off 10% p.a. as depreciation on the reducing balance method. Calculate the interest.
19. Differentiate between insolvency of an individual and a partnership firm.
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions
20. A, B and C are partners in a firm sharing profits and losses in the ratio of 2:3:1 respectively. Their Balance sheet as on 31.12.2008 was as follows. Their balance Sheet as on 31.12.2009 was as follows:
	Liabilities			   `			Assets				   `
	Sundry Creditors	        25,000		Building		         	50,000
	Loan payable 		        15,000		Machinery		       		40,000
	Reserve Fund		        16,000		Furniture		      		10,000
	Capital:	A		        30,000		Stock			         25,000
			B		        40,000		Debtors		18,000
			C		        25,000		(-) Provision	     500	17,500
									Cash			          	  8,500
Total			      	    	     1,51,000					       	      1,51,000

C retires on 31.12.2008 subject to the following conditions:-
a. A goodwill account is created in the books for `24,000
b. Machinery to be depreciated by 10%
c. Furniture to be depreciated by 5%
d. Stock to be appreciated by 15% and buildings to be appreciated by 10%
e. Reserve for doubtful debts to be raised to `2,000.
Prepare necessary ledger accounts and show the balance sheet of the new firm.
21. A firm was dissolved on 31.03.1988. The balance sheet of the firm was as under:
	Liabilities			`		Assets				    `
	Capital accounts:				Sundry Assets		        	50,000
	Parameswaran		     10,000		Cash balance		           2,000
	Palani			       4,000
	Pandian			       6,000
	General reserve 	       6,000		
	Palani’s loan		     10,000
	Sundry creditors	     16,000
	Total			     52,000					                  52,000
Partners were sharing profit and loss equally. No partners were insolvent. Assets excluding cash were realized as under:
First installment		 `16,000
Second installment	 `10,000
Third Installments	 `3,000
Fourth installment	 `600
It was decided to distribute cash as and when available on realization of assets. Prepare a statement showing the distribution of cash among partners by Proportionate capital Method.
22. Vaji Ltd. purchased a piece of Machinery on 1st January 1980 on the hire purchase system. The cash price of the machinery was `29,800. Terms of payment were `8,000 half yearly over two years, the first payment to be made on 30thjune 1980. Rate of interest was 6% p/a. Vaji Ltd. wrote off 10% depreciation under W.D.V method and closed its books on 30th June every year. It could not pay the installment due on 30th June 1981 and as a consequence, the hire vendor took possession of the Machinery. Give the Machinery Account and show the loss suffered by Vaji.Ltd.
23. A Head office sends goods to its branch at 20% less than the list price. Goods are sold to customers at cost plus 100%. From the following particulars ascertain the profit made at the head office and the branch on wholesale basis.
Particulars						Head office		    Branch
Purchases						2,00,000				-
Goods sent to branch (invoice price)	   80,000				-
Sales							1,70,000			    80,000
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